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(1) AFg (F32H)  (GHETABI)
I\ 10 a %7’:@ =N 'ﬁz{ﬂ I\ + |10 a %7’:@ =, 'ﬁz{ﬂ
ha kg t ha kg t
RL294FPE
4 1, 465, 000 534 7,822,000 100 Boya ET 2, 140 600 12, 800
W it 374, 800 564 2,115,000 99 97 370 Hh BT 36 540 194
H e 43, 400 596 258,700 101 + & 1,410 567 7,990
Ve F 49, 800 533 265,400 98
= I 66, 300 535 354,700 99 N O T 740 579 4, 280
K M 86, 900 574 498,800 99 B o W7 153 544 832
I 2 64, 500 598 385,700 100 oodb |y 1,230 555 6, 830
& = 64, 000 549 351,400 100 N BT AT 60 508 305
FUN S H T 546 548 2,990
R304FPE
4 1,470, 000 529 7,780,000 98 KR 3 432 13
W it 379, 100 564 2,137,000 99 o A 119 474 564
H Z* 44, 200 596 263,400 101 JE [ 6 AT 3 315 9
Ve F 50, 300 543 273,100 101 e FH Ok 5 398 20
= I 67, 400 551 371,400 101 = 7 500 578 2, 890
K M 87, 700 560 491,100 96
Z 64, 500 580 374,100 96 HoOF T 934 584 5, 450
& = 64, 900 561 364,100 101 m v ny 390 544 2,120
FOEs ET 692 567 3, 920
R 304 FE M BOET 79 514 406
VERR 2715 H 35 1] HFOa A 236 540 1,270
K OV BT A 1)
(F#&%) (BF)
H 2 5,070 573 29,100 100 It )1 B 12, 300 566 69,600 101
HE % 27, 200 612 166,500 100 It EJI R 34, 500 539 185,700 101
mME - Tk 11, 900 570 67,800 103 W bl 1,270 493 6,270 102
it b 2, 260 508 11,500 101
) 3, 750 583 21, 900
8L ®i T 3,070 584 17, 900 & T 2, 580 574 14, 800
A B Hi 1, 050 533 5, 600 WO T 291 491 1,430
B o5 1 1, 280 581 7, 440 KA T 111 489 543
FFT R 5, 020 641 32, 200 it & 7,670 548 42,000
b | A o ] 5,030 543 27,300
+FHETH 3, 440 593 20, 400
= R 251 551 1, 380 KT 296 490 1, 450
T o TH 76 451 343 g ) 1,760 534 9, 400
SN AT 7, 630 644 49, 100 — B 6,010 519 31,200
ST 1, 850 580 10, 700 e pifi v FE T 292 496 1, 450
% A T 52 494 257
O HT 517 531 2, 750
A RIlOHT 97 543 527 - A 863 528 4, 560
E M K 584 574 3, 350 JUBE ST 2, 280 579 13,200
& 4 Y WY 122 521 636 BN T 10, 200 550 56, 100
% W 754 600 4,520 wOR 727 569 4, 140
£ oA T 2,010 556 11,200
%O T 361 555 2, 000
[ENER =TS 93 555 516 B & W 42 501 210
g I HT 1,320 588 7, 760 = F T 524 544 2, 850
JC o fE oW 185 560 1, 040 T 2, 580 562 14, 500
M 2 i 4 915 573 5, 240 R HT 1, 560 559 8, 720
VG Fn 2 |y 718 511 3,670
BOHn T 1, 130 571 6, 450
s HomT 1, 490 588 8, 760 & /7 gy BT 2,420 522 12,600
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(1) AKFg (F3H)  GHEETABD  (Brx)
I\ g 10 a %fl@ = ME{R N 8 10 a ﬂ:'/lflb =, ME{R
ha kg t ha kg t
CaTHix) moE HT 3,030 539 16, 300
oo HT 674 507 3, 420 N 1, 790 559 10, 000
£ B HT 170 506 860 E H Omy 3,110 561 17, 400
Jo KB OWT 85 492 418 oI ET - - -
L B W7 124 487 604 B = N7 150 482 723
oo T 129 486 627
(Bkm)
SERES 17 466 79 JI=X it 18, 800 541 101,700 96
AR K 5 454 23 5o g 31, 800 563 178,900 96
[ ST 326 512 1, 670 JI=N 7] 37, 200 566 210,500 96
¥ OH K 56 464 260
o N 241 516 1, 240 * B 5, 540 564 31,200
=R Avil 1] 4,210 555 23,400
PEOBF WT 232 474 1, 100 ¥ R 10, 800 573 61, 800
— 7= mr 242 499 1,210 K OfE ™ 3, 650 535 19, 500
B 2, 460 558 13,700
(e 48
7] % 6, 820 533 36,400 102 &oW T 3,710 561 20, 800
th i 12, 500 541 67,800 102 oA T 2,230 526 11,700
[ % 40, 000 557 223,000 101 I A H T 6, 530 554 36,200
H i 8, 060 549 44,200 101 B oOE W 2, 340 567 13,200
JoAqL T 12, 800 568 72,500
il & 3, 000 535 16, 100
Ho& i 5, 750 557 32,000 = ] 3, 230 529 17,100
O 1 281 3 N N E ] 1, 960 550 10, 800
Al B 502 478 2, 400 il de T 3,110 541 16, 800
H A T 961 527 5, 060 /N BT 233 507 1,180
BRI A 287 517 1, 480
& W T 1, 630 558 9, 100
1 H T 2,270 549 12,500 OB W7 432 534 2,310
% 8 W 172 552 949 = f& 7 3,370 554 18, 700
=omof 960 557 5, 350 JA % 1,150 554 6, 380
- ] 10, 600 577 61, 200 H o H BT 1, 170 556 6, 490
J\BR 8 BT 651 562 3, 660
HOE O 9, 820 545 53,500
[ /= 1, 660 547 9, 080 H I W7 951 560 5, 330
KWW T 10, 100 557 56, 300 K B K 10, 200 572 58, 300
O il 354 540 1,910 ESIE (T 4, 380 574 25,100
B OEOET 600 531 3, 190 P& HT 2,230 560 12,500
ROk W A 187 505 944
+ o 15 BT 107 508 544
o A B ET 267 554 1, 480 ¥)
A H ET 503 533 2,680 K H 14, 700 594 87,200 96
£ W ET 562 538 3, 020 = S 10, 300 560 57,500 97
JI T 657 508 3, 340 [ 1% 13, 200 589 77,700 97
a2 N 26, 400 576 151,700 95
AR OAT 889 513 4, 560
R 1,700 535 9, 100 L & T 2, 390 625 14,900
oo HT 771 527 4, 060 ¥ RO 2, 390 573 13, 700
w8 mT 462 547 2,530 e 10, 900 579 63,100
o fET 92 490 451 ML RN I 7, 400 576 42,600
#oOoE 3,410 564 19, 200
H HF oHT 181 545 986
K Fno mT 1, 440 541 7,790 FE T T 1,030 593 6,110
JO9% W7 1,120 545 6, 100 oW T 764 609 4, 650
N 630 542 3,410 Ao T 1, 880 587 11, 000
& FE W7 1,530 542 8, 290 E 4 i 1,780 607 10, 800
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I\ g 10 a ﬂ:'/lflb = ME{R N 8 10 a ﬂ:'/lflb =, ME{R
ha kg t ha kg t
(ke =) JIl = T 185 479 886
K #® T 1,190 626 7, 450 x E FF 903 561 5, 070
OB O 1, 050 591 6, 210 8 o T 823 545 4, 490
B IR 2, 740 568 15,600 K 5 K 809 533 4,310
EI ) 1, 200 592 7,100 ™ 45 HT 431 535 2,310
3 Wy 381 599 2, 280
iy B IR A - - -
oy mT 405 632 2, 560 R HT 403 550 2,220
ook T 1, 000 610 6, 100 B o T 1, 020 554 5, 650
W) ET 178 516 918 At 5 R A 205 602 1, 230
g B W] 370 557 2, 060 vE 2 T 633 532 3, 370
Jo T W7 324 552 1, 790
L= 391 603 2, 360
A HOET 986 569 5,610 ¥ AR T 2, 140 612 13,100
& (b mT 1, 020 554 5, 650 R T T 2, 550 617 15,700
& F mT 1,210 533 6, 450 B K 952 621 5,910
72N 875 576 5, 040 o HT 300 571 1,710
=)l BT 1, 070 551 5, 900
= & 41 514 211
KOk 542 568 3, 080 4 g W7 114 531 605
I A 1, 220 570 6,950 - M Fn A 169 564 953
7O K 937 558 5,230 - SR ENT 2, 820 613 17, 300
wooB N 2, 140 575 12,300 .- [ | S 832 558 4, 640
JIl v§  HT 3,100 610 18, 900
RO R 685 557 3, 820
/N iy 506 502 2, 540 BOE R 522 584 3, 050
H g 850 560 4,760 xOWROHT 1, 300 568 7, 380
fix B HT 1, 240 613 7, 600 m A& Hr 837 551 4,610
= I wWr 1, 700 575 9, 780 KO HT 318 508 1, 620
E N BT 4, 330 581 25,200
s My 598 504 3,010
W 2 mT 2,030 544 11, 000 s )1 K 256 499 1, 280
HoOJI| W7 846 527 4, 460
(#&5) I K 455 524 2, 380
o v 35, 700 544 194,200 102 Ol M 441 530 2, 340
o v 6, 860 524 35,900 102
e H 22, 400 598 134,000 99 ® I mT 538 543 2,920
oo HT 231 515 1, 190
® B i 1, 870 499 9, 330 = &K W 334 537 1, 790
NPT 4, 690 610 28, 600 N By T 493 521 2,570
Ao T 7, 990 565 45,100 S BF W7 119 512 609
Wb x il 3, 750 523 19, 600
= ] IS 61 3, 560 554 19, 700 fE EOET 34 479 163
i 9 495 45
AHE ) TH 4, 750 551 26,200 N W K 110 514 565
=% 5 5, 500 596 32,800 K oOBE HT X X X
fHOE H 1,610 526 8, 470 o OBE ET - - -
AT 1, 870 513 9, 590
B A& 1, 390 513 7,130 B’ L HT X 579 X
= B K 12 475 57
MM E T 697 525 3, 660 &5 W7 494 523 2, 580
= M 961 513 4,930 TS S 22 420 92
X owm o 1,210 558 6, 750
Z v BT 360 515 1, 850
R W7 345 518 1, 790
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(2)  KEo#E
= ES e =
x4 “ E A G N <1 mooOR B F
BeEmD M| # FE B | #EFEmBE| K F B | EEDME| O E &
ha t ha t ha t
SRR 294E RE
4 211, 700 44, 800 1, 070, 000 243, 100 105, 300 11, 800
w it 125, 600 24, 900 361, 100 109, 000 - -
H P 13, 900 2, 850 29, 600 6,210 - -
=) T+ 13, 500 3, 680 49, 800 22, 600 - -
=4 Ik 18, 900 4, 280 66, 300 28, 600 - -
X H 5, 350 1,110 86, 900 22,700 - -
(L Z 64, 500 10, 800 64, 500 16, 300 - -
& = 9, 450 2, 200 64, 000 12, 600 - -
SRR 304ERE
4 110, 900 36, 400 1, 045, 000 251, 500 653, 300 94, 300
W it 6, 720 745 379, 000 97, 300 135, 400 20, 200
H P 3, 070 348 44, 200 11, 400 - -
=) T+ 3, 650 397 50, 300 13, 900 - -
=4 Ik - - 67, 400 15, 300 3,510 332
K H - - 87,700 26, 400 2,510 644
(L Z - - 64, 500 24, 500 64, 500 14, 400
& = - - 64, 900 5, 800 64, 900 4, 870
I & i =
X A - % v 7 A A v
BeEmD M| # EFE B | #EFEmBE| K F R | EEDE| O E &
ha t ha t ha t
SRR 294E RE
4 238, 800 60, 900 69, 800 14, 600 110, 300 10, 600
w [ 56, 900 15, 000 3, 980 238 20, 000 1, 360
H F 1,520 112 850 44 890 68
=) T+ 7,530 2,110 25 1 455 34
=4 Ik 4, 800 2,130 60 1 3, 430 312
K FH 20, 000 4, 720 893 47 6,710 231
(L 2 10, 400 2, 050 1, 690 124 4, 250 395
& = 12, 600 3,910 460 21 4,310 321
SRR 304ERE
4 211, 300 49, 100 48, 300 6, 500 109, 300 12, 800
w = 49, 700 10, 000 3, 600 257 21, 100 1,670
H P 1,010 87 570 41 1,270 93
=) F 5, 050 1,110 25 1 1, 300 130
=4 Ik 8, 040 1,870 60 2 3, 570 374
K FH 19, 100 4, 370 733 39 6, 340 365
(L 2 11, 200 1, 800 1, 690 141 4, 360 340
& = 5, 300 767 520 33 4, 240 371




